Awinmo India Compensation Plan

Plan: Generation
Closing: Monthly
Deduction

TDS with PAN: 5%

TDS without PAN: 20%

Product Packages

Package Amount |No. of Packages for self-use Packages for further sale |[Ranks

8800 1 0 RM

35200 1 3 SRM

61600 1 6 AM
Incomes

Commissions for Personal Sale

Ranks Commissions Conditions

RM 9% -

SRM 14% 14% after generating sale 26400/-
AM 16% 16% after generating sale 52800/-
BDM 40% -

BM 45% -

ZM 50% -

Conditions

This Income is based on Product sale

Commissions will be distributed according to our ranks
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Generation Profits

Levels AM BDM BM ZM

1 5% 11% 2.5% 1%

2 4% 6% 1.5% 0.8%
3 3% 4% 1.2% 0.6%
4 2% 2% 1% 0.4%
5 1% 2% 0.7% 0.2%
Pool 0.5% 1.5% 0.4% 0.1%

Note: First Level Consider from AM Rank. Dynamic Compressions from generation
tree. After the 5% level find all AM’s let suppose there is 10 AM’s then 8800x10 =
88000 that amount 0.5% will be distributed into that users who is eligible toget
0.5%. Same happens in BDM, BM and ZM.

Royalty

Rank

Royalty

RM

1%

SRM

1%

AM

2%

BDM

3%

BM

4%

M

5%

Conditions Royalty will be based on CTO.

Only Repurchase sales will be considered.

Percentage Distributed as per the user’s ranks.
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Ranks

Ranks Direct Requirement Additional Condition

RM  |Activate with 8800 Product Package No

SRM |Generate Business 35200/ Sales to minimum 4 Customers
AM  |Generate Business 79200/ Sales to minimum 3 Customers
BDM |Personal sale 2,11,200/- Yes

BM 4 BDM Yes

ZM 4 BM Yes

Rank Conditions

Need 18 Lacs business in 3 months to get BDM Rank else businesscount starts
from 2" month 1t month’s data will be flushed out.

Need 1.5 Crore business in 3 months to get BM Rank else businesscount starts
from 2" month 1t month’s data will be flushed out.

Need 6 Crore business in 3 months to get promoted to ZM Rank else business
count starts from 2"¥ month 1°t month’s data will be flushed out.

If any user has lower rank than his parent’s rank and his direct sponsor has
also higher rank then that will count for his parent for the upgradation of rank.

See Mentioned Example
A > B > C

AM -> RM -> AM

Note: C user will count for A for the rank upgradation because B has lower rank.
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Group Profit SRM will get 4% commission if any 2™ level person has done

shoppingfrom the admin as mentioned in the chart. | will get 4% of my
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package.
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AM will get 9% commission from 2™ level to until | get AM rank from my
downline, If any level person has done shopping from the admin as mentioned

in the chart.

I will get 9% of my package.

M
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9%
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SRM

SRM

AM N

9%

Read and understand the above given business plan carefully.

9%
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